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ASEXNNH(2F) 300,000 285,000 15,000
= 240,000 228,000 12,000
= 30,000 28,500 1,500
= 30,000 28,500 1,500
301 Yt 300,000 285,000 15,000
= 240,000 228,000 12,000
= 30,000 28,500 1,500
2 30,000 28,500 1,500
NEEEER EIEREESTE)) 300,000 285,000 15,000
cABEXNXA(BX)
23 300,000,000 300,000 285,000 15,000
= 240,000 228,000 12,000
= 30,000 28,500 1,500
2 30,000 28,500 1,500
2= 139,700 79,600 60, 100

o py

Z2LH9 MET2Hl XA (MEZHE D)4
2el)
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A FST0
M ArISASEAMHIA X3
&t 2sS=K (CH9: &S1)
SA - B O9I(SH) - MRALY - BAS of avo JERY RS2
= 69,850 39,800 30,050
< 41,910 23,880 18,030
o 27,940 15,920 12,020
301 LEIEE S 139,700 79,600 60,100
= 69,850 39,800 30,050
< 41,910 23,880 18,030
= 27,940 15,920 12,020
4 JIE2 =S 139,700 79,600 60,100
oD ZLHI9 MEXIZH XA (HALSEH
Z8) 23 139,700,000& 139,700 79,600 60,100
= 69,850 39,800 30,050
< 41,910 23,880 18,030
= 27,940 15,920 12,020
ARSAHE K& 114,504 120,346 Nb5,842
= 1,623 1,623 0
< 10,901 10,901 0
= 101,980 107,822 nb5,842
AESAES K2 51,500 55,500 24,000
201 L= 4,500 6,000 21,500
01 ArR2eltl 4,500 6,000 A 1,500
oA SAISRIDINAE HXIE
34 02 0 1,500 21,500
301 LRENZF 6,000 8,500 22,500
11 #AIAHIXIR S 6,000 7,500 21,500
o NASAHA 22 n= 33 0¥ 0 1,500 21,500
14 DBt 2 a3 0 1,000 A1,000
o N SAHAL doliXIZH| XI&
34 02 0 1,000 1,000
AHESAHE 2 24 7,088 8,930 N1,842
201 L= 3,360 4,090 AT30
01 A2t 2,400 3,100 AT700
oNASM2ERARS F&xE
A 0 0 700 A700
02 3224l 960 990 A30
olHASAMA RQEZS &E A SN SA
HEE3 3Hge S
23 960,000 960 990 A30
202 04l 3,728 4,840 AT1,112
02 M0 2,728 3,840 A1 112
oA SAH 2CIUI0IH Z MO
& 124,000 +2H+112 2,728 3,840 AT1112
YA HHI(FL=R) 325,554 314,454 11,100
= 66,344 66,344 0
= 44,016 44,016 0
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SN
XZH: S
o e o
cel: ol

2! H (crel ®2l)
M- SA(3) - MRAY - BES Ol &koy N3N Hwsz2
(= 11,090 11,090 0
2 204,104 193,004 11,100
ol 301,574 287,514 14,060
=2 66,344 66,344 0
z2 44,016 44,016 0
< 11,090 11,090 0
= 180, 124 166,064 14,060
SSIALAIZCIAF QI2AH] IR (XHAI) 21,000 14,440 6,560
101 Q1AH| 21,000 14,440 6,560
03 2RE(PIHA) 2224 21,000 14,440 6,560
S SEAFIZCIAL 124 X
AH 3,500,000 x2H*32 21,000 14,440 6,560
= AF RCIUIOIH Q1A4H] X 24,500 17,000 7,500
101 QIAH| 24,500 17,000 7,500
03 SRX(PIHY) 2224 24,500 17,000 7,500
o XA RCIUIOIE Q1AHHI X2 (2HI=
1) 3E 4,083,333« 3 24,500 17,000 7,500
J|1=23t| 23,980 26,940 A2,960
J1=23l 23,980 26,940 A2,960
201 LBt2HY| 18,940 21,900 A2,960
01 Al22t2|H] 18,940 21,900 22,960
SLE X 250,000 % 16K 4,000 5,000 A 1,000
o=ALEX 3E 25,0002 608 A 1,500 2,500 21,000
oF0LR HULFX(ZS) S
A 8,0002+8H*10 640 1,600 960
WRES(Fo=X1) 2,209,790 1,729,724 480,066
WESIENES 666,420 711,429 45,009
WESIENES 666,420 711,429 45,009
701 JIESIHENES 621,420 646,429 A25,009
01 JIEtIHAES 621,420 646,429 A25,009
cOSSHEEIN MEZ
3E 621,420,000 621,420 646,429 A25,009
VIErSE= 45,000 65,000 A20,000
01 712822 45,000 65,000 A20,000
oABEIDIZ BE2
23 45,000,000 45,000 65,000 A20,000
PSS 1,543,370 1,018,295 525,075
EPSPNES 1,543,370 1,018,295 525,075
802 gtet=D|Et 1,543,370 1,018,295 525,075
01 2NEX3EHE3 1,228,218 764,225 463,993
o202 ZHFAHS L ORI0IE KIDFAAH
I|E SIAIXIR L Of KpeayoH
50,7602 51 0 51
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2A FRI=XD
. YRES(FU=XD)
o9l 28NS EER-E)
SA B BL(BIH) - ARAY - BES 0l aroy | H o HimE=ET
C2022 DPAIRFE B2 X| 2 AKR (O KHEL )
2,865,330 2,866 0 2,866
o202 K| ALS| A HIAS XEARR (0] KHE )
5,213,320 5,214 0 5,214
o202 HUHDFS AR AL (0| KHEL )
5,499,8502! 5,500 0 5,500
o202 oI LR (ZXE)
10,473,9702 10,474 0 10,474
o202\ FHO§ QI Kt (Al2HEH0§ QI OFOFAHIHA
)(OI XHE ) 6,539,980 6,540 0 6,540
o202 HASHONO XA L38 L A
bl 415,0002! 415 0 415
o202 S0IE OO FEAIHTAL (01 KHE
=) 51,3108 52 52
o028 J|ZFENHZ0f 155,883, 2502 155,889 155,889
o202 J|EZENSO LMO| X}
4,965,550 4,966 0 4,966
o202 FHOje! 2XIJ| X
910,000 910 0 910
2022 FONOIS ISR (L LTHEAHIA)
Ol Xt 9, 1002 % 0 %
o202 DELHY MEXIRIE| 0IXH=HI)
517,200 518 0 518
o202 ROHISSNAZ0 01kt
5,800,860 5,801 0 5,801
op02E ROjOl ARLHY S SAIXIE
5,258,020 5,259 0 5,259
o202 OSSR IS0 01Xt
2,0102! 3 0 3
o202 FOjI LRl (HUH)
1,232, 4902 1,233 0 1,233
o2022 FOjQILXtel (AIZEH)
3,280,000 3,280 0 3,280
o2 HLTONO YUSHEAHIA
64,167,440 64, 188 0 64,183
o202 SLIONO FABEAHIA
190,087, 77024 190,038 0 190,038
o202 GIEZONQ BAHIE KR (0IKEE)
701,210 702 0 702
02 Al - CHIBE292 315, 152 254,070 61,082
o022 LAFAHS L ORI0IT KIIZA
J1E SIAIRIZ Y OfRheayol
15,220 16 0 16
o202 ALSIZXIAIL SAL MdHEEE X
2l 325,000 325 0 3%
o202 XIS BH BN Mol ol
HI(OIXH) 2,390 3 0 3
o202 ROHRIBSXE S0f 01K
745,820 746 0 746
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SA: ISR
I HRES(FL=XW)
o9l 28NS EER-E)
A - 3 - S2A(FH) - MRAY - BES 04| AkeH J 3 N Hnsz2
o202 FOHl DZ2LHISE SHAIXIH (01K
TS 675,420 676 676
o022 HOHQIESKIR I3 OIXt
260 1 1
o022 MASEONQ! REHA 22H| 2 2At
bl 124,500 125 125
o022 LEEHO AMSI R T2 OB (KR
2) 0IXt 610 1 1
o2022E SO0{E EOHQ! FEINEAL (O KHE
&) 15,400 16 16
o022 HOHQIBO BRI |EXRHE 29
Ol Xt 3,300 4 4
o022 F0HQI2 SHOITHA S| (OIKHES)
12,2102 13 13
o20228 HOHOISIHISXI (LS THEAMHIA)
Ol Xt 11,9702 12 12
o022 ZOHOI X2 (Al ZHELO) Q1 OFOFAMIHA
)(OIRFEL &) 491,020 49 49
o028 FHOHQI L2 (2XIH)
3,142,190 3,143 3,143
o022 HOHI L X2 (ML A)
369,750 370 370
o022 HOHOI L Xt (AlZHAI)
94,0102 985 985
o022 SEXHOl LUSHSMYEIA
8,251,790 8,252 8,252
o022 YEHROHQI FABSMHIA
24,431,000 24,431 24,431
o2022E JIEFHZO 19,486,020 19,487 19,487
o022 J|EZ=HZ 0 LMO|Xt
620,690 621 621
o022 D2LH9 MEX|AY] 0l XH=HI)
253,350 254 254
o202 GJAZ0NR! SAHIZ X
90,0002 0 PO
o022 HEADISHA KA (0| KL
412,480 413 413
o022 KIGASI MHIASE XA (OI R &)
390,710 391 391
o022 JHARMEH2 X I A (O REEE)
214,900 215 215
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